
SC

TI GA

SC

TIGA

CH

BZ US

CH

BZUS

RL

CH

DE
RL

CH

DE

ÄT Z

EH

ÄTZ

EH

EN,

RE RV

EN,

RERV

UM WI

ER

UMWI

ER

EV

S PÄ

EV

SPÄ

IE L

TEN

IEL

TEN

SI

WI RD

SI

WIRD

CH

ND ER

CH

NDER

I

TR RI

I

TRRI

NS

E IT

NS

EIT

HK

IE KU

HK

IEKU

TL IC

TD

TLIC

TD

ISLE

NK

IS LE

NK

P Ü

HU

PÜ

HU

1. 7,368 · 10  = ________
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15. 26000 =

16.
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2.

3.

7,368 · 10  = ________

73680 = ________

736800000 = ________

0,007368 = ________

0,07368 = ________

0,7368 = ________

________

2600000 = ________

0,00026 = ________

2600 = ________

0,0000000026 = ________

26000000 = ________

260 = ________

________

0,026 = ________
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